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In [1]: import matplotlib.pyplot as plt
import numpy as np
import pandas as pd
from scipy import stats

F— S DHEHAY

In [2]: pd.read_csv("D:2022_%k¥Bffst=/StatData/StatDatall_3. csv”
encoding="cp932" ). head() # csv 727/ IILDFZEZDFER

Out[2]:
HERDEE(PF) BEMDME(PA)
0 P A
1 F P
2 F P
3 F A
4 F P

In [3]: # BEREZHEITS
Data=pd. read_csv ("D:2022_#i¥E#75t5/StatData/StatDatall_3. csv”,
encoding="cp932’
skiprows=1,
names= (' Exam', ' Attend))
Data. head ()

Out[3]:
Exam Attend
0 P A
1 F P
2 F P
3 F A
4 F P

P 0ORX&RE

In [4]: Data_cross=pd.crosstab(Data[ Exam’' ], Data[ Attend']) # &~ O R&5t

Data_cross
Out[4]:
Attend A P
Exam
F 23 46

P 15 41



In [5]:

Out[5]:

In [6]:

Out[6]:

In [7]:

Out([7]:

In [8]:

Out[8]:

In [9]:

Out[9]:

In [10]:

Out[10]:

In [11]:

Qut[11]:

# &

Data_cross. sum()

Attend

A 38

P 87
dtype: int64

Data_cross. sum(axis=1)

Exam

F 69

P 56
dtype: int64

&5 (EHEEMAHITTEL)

Attend_A, Attend_P=Data_cross. sum()
Exam_F, Exam_P=Data_cross. sum(axis=1)
N=Attend_A+Attend P # T—4##g
Attend_A, Attend_P, Exam_F, Exam_P,N

(38, 87, 69, 56, 125)

MITEERIRTE U & E DR

# Exam & Attend DI FRE L= & TDOEHEL
Exam_F_Attend_A=Nx (Exam_F/N)* (Attend_A/N)
Exam F_Attend_A

20.976

Exam_F_Attend_A=Nx (Exam_F/N)* (Attend_A/N)
Exam_F_Attend_P=Nx (Exam_F/N)* (Attend_P/N)
Exam_P_Attend_A=Nx (Exam_P/N)* (Attend_A/N)
Exam_P_Attend_P=Nx (Exam_P/N)* (Attend_P/N)
Exam_F_Attend_A, Exam_F_Attend P, Exam_P_Attend_A, Exam P_Attend_P

(20. 976, 48.023999999999994, 17.024, 38.976)

D1 2FIRE

Expected=pd. DataFrame (
{" A" : [Exam_F_Attend_A, Exam_P_Attend_A]
"P’ :[Exam_F_Attend_P, Exam_P_Attend_P]},
index=["F", P 1)

Expected

A P

F 20976 48.024
P 17.024 38.976

# chi-square
chi_square=((Data_cross—Expected)**2/Expected). sum(). sum()
chi_square

0.6263413562642237



In [12]:

OQut[12]:

In [13]:

Out[13]:

In [14]:

Out[14]:

In[]:

# AN

alpha=0. 05

Chi=stats.chi2(1) # BEE | OhAIZESH
Chi_alpha=Chi. isf(alpha) # L8] alpha =
Chi_alpha

3. 8414588206941285

 EHSINLEM?
chi_square>Chi_alpha

False

#t P&
P=1-Chi. cdf (chi_square)
P

0.4287005129151674



